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Question 9(a)

No example available

Commentary
The ideas of being able to get instant responses or explain questions in an interview are expected.

Question 9(b)

No example available

Commentary
Appropriate answers are likely to discuss the time or cost of carrying out surveys in this way.

Question 9(c)

No example available

Commentary
The problem with the question is that it is a leading one / offers an opinion within the wording.

Question 1
Please see the mark scheme
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Question 10(a)

10 Here are some variables.

Some are relevant to people and their main job and some are not.

A — How much you are paid in a year

B — Your favourite TV series

C — How many days of holiday you are allowed each year
D — How tall you are

E — Distance from your home to work

F — How much you like your work colleagues

G — How happy you are at work

Adam is investigating whether people who are paid more are happier at work.

10 (a) Write down a possible research question for Adam’s investigation.

[1 mark]
Student A
10 (a) Write down a possible research question for Adam's investigation.

m@g@m%

Commentary
A good response, clearly citing both variables and asked as a research question, not a hypothesis.
1 mark
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Student B
10 (a) Write down a possible research question for Adam’s investigation. E
[

ol wecW ., ace WQ?“_\ C,MQ(_-J‘-:Q&- Yo
hese o etk 9 i \esn

Commentary

Not as clearly stated but acceptable at this level as a possible research question.
1 mark

Student C
10 (a) Write down a possible research question for Adam's investigation.,

De OB D ) o
A amcd) -3

Commentary

Response does not include any reference to the amount of pay, so is not acceptable.
0 marks

Question 10(b)

Please see the mark scheme.

Question 10(c)

Please see the mark scheme.

Question 10(d)

Please see the mark scheme.
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Question 9(a)

9 A hotel chain has 800 hotels.
Of these hotels 200 have a car park.

Rogan wants to choose a sample of the hotel managers, stratified by whether they run a
hotel with a car park or not.

Rogan wants a total sample size of 60

9 (a) How many managers who run a hotel with a car park should be in the sample?
[2 marks]
Answer
Student A |
2 (a) How many mahagers who run a hote! with a-car park shouid be'in the sample? . ,
[2 marks,

g HEp
20 200 = L. -k&
oty = 1B

Answer | 5

Commentary

Though the fraction %4 appears to be somewhat dubious on line 1, the issue is quickly recovered to
give a fully correct response.
2 marks
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Student B

8 (a) How many managers who run a hotel with:a car park should be in the sampie?
[2 marks]

800 —Go=\3  W-13= |5

Answer 5 ! S

Commentary

Note this alternative method, the decimal on the 13 has clearly been carried through the calculation
even though it is not shown to achieve the correct answer.

2 marks

Question 9(b)

9 (b) Rogan will email a questionnaire to the managers.

Why will Rogan probably have to send out more than 60 emails in total?

[1 mark]
Student A
9 (b)  Rogan will emall a questionnaire tothe managers. |
Why will Rogan probably have to send out more than 60 emails in total?
[1 mark]

ok Fpoen
Commentary

The estimate of the number required is not important, but the key possible issue of low response
rates is covered in this response.
1 mark

Copyright © 2021 AQA and its licensors. All rights reserved. 5 of 24



Student B o
9 (b)  Rogan will email a questionnaire to the managers.

Why will Rogan probably have fo send out more than 60 emails in {otal?

[1 mark]

Commentary

Successfully references low response rate in a different way.
1 mark

Question 15(a)

15 Charlie wants to investigate how people do most of their travelling.

She begins by asking 30 of her friends how they travel to school.

15 (a) Write down a question that Charlie could ask.

[1 mark]
Student A
15 (a)  Write down a question that Charlia could ask. n——
_”QMMW trowvel o Schoo! ﬁnﬁ_afiﬁfﬂ
Commentary
A typical correct response.

1 mark
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Student B

ite down a question that Charlie could ask..
15 (a) Write q et
Wnoke 9 yout mMoSe Oeken  BOIM
0f _ cconNSpofe to  School?
Commentary
Different wording but appropriate answer.
1 mark
Student C
15 (a)  Write down a question that Charlle could ask.
[1 mark]
How do mesy o Mow  Casapleke
_On Qu:a-r&o)e = =1 W
Commentary
Does not have the required reference to school.
0 marks
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Question 15(b)

15 (b) The frequency table shows Charlie’s results.

Method of Travel

Car
Bus
Walk
Cycle

Train

Frequency
3
6
18

Charlie says,

“10% of these friends come to school by car, so 10% of all students come to

school by car.”

Comment on both parts of Charlie’'s statement.

[2 marks]
“10% of these friends come to school by car”
“10% of all students come to school by car”
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Student A

Comment on both parts of Charlie's stalement.
[2 marks]

+10% of thesa friends come o schootby car _ PR Thds sledneal

Commentary
The first part of the answer does not explain what the evidence is and how it supports the

statement being true.
The second part of the answer is accepted as implying that we don’t really know whether the

sample is going to be representative of the whole school.
1 mark
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Student B

Charlle says,

"10% of these friends come 1o school by car, 50 10% of all students come to
school by car.’

Comment on both parts of Charlle's statement. *

[2 marks]

*10% of thesa friands come to school by car” __ \ Lo <

ocoee 22 = 2 aod

Maod fe \@L7 A 2O .

“10% of all students come to gchool by car” .__MQ CASS -’rlo\..l S

\s m&._‘\ Q\WO(B}—

—Saoh e ol

Commentary

The first part of the answer is a good and clear explanation of the supporting evidence.
The second part of the answer is just sufficient due to the word ‘only’ .

2 marks
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Student C

Charlie says,
“10% of these friends come to school by car, st 10% of ali students come to
school by car."

Comment on both parts of Charlie's stalement. |
[2 marks]

“10% of all students come lo school by car” ¢~ LICGaL o
. we  Lxeq * 3 o.Bre
Commentary

Both parts of the student response show acceptable work for the marks.
2 marks
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Question 15(c)(i)

15 (c) Charlie hears on the news that more people than ever are using cars to travel and roads
are getting busier.

She sees this graph on a news website.

700
600
500 ’///
Billion 400
passenger
km per
year 300+
200 /////
100 Vad —
o - |
1952 2016

Key

Cars, vans and taxis
————Rail

Source: adapted from Department for Transport

Comment, with a reason, whether or not the graph confirms that,

15 (c) (i) more people are using their cars to travel.
[1 mark]
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Student A
15 () (i) more psople are using thalr cars to travel.

Commentary
This appears to be a mis-interpretation of the vertical axis on the graph so is not awarded the
mark.

0 marks
Student B
15 (c) () more people are using their cars to travel.

(c) () peop ) i

Te cayv ling LS 8amc(j (_L,P
Commentary
A basic but just acceptable response.
1 mark
Student C
15 (c) (i) more people are using their cars to travel.
[1 mark]

__/ﬁl,_gm,gh_m_mt_mnﬁz;_gﬁ_w
_m_zw_aw;qgmfﬁm@_ _eﬂzsuﬂﬂm—fw

and Toxis

Commentary

As can often be the case in questions like this, it is possible to get credit for supporting
appropriately either a yes or a no answer. This response is correct in highlighting the graph is
about several types of transport in one line and not just cars.

1 mark
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Question 15(c)(ii)

15 (c) (ii) roads are getting busier.
[1 mark]

Student A

) roads aré getting busier.
15 (c) (i) roads are getting busie [1 mark]

glo

Qe ohrs A@VL maarm “oL bespiese L

oﬂﬁfmaff

Commentary

Does not have the clarity required — seems to be confused between car use and roads.
0 marks

Student B

|  ara getting busier.
156 (¢) (Il) roads are getting 1 mark]

W&a.awww. :
M_mmwhghqucm e infecencl:

Commentary

Borderline suitable response, doesn’t completely explain why but confirms inference rather than
definitive information.
1 mark

Student C

15 il \;ds are gatting busier.
{c) (i) getting (1 mark]

ﬂg ompb\ dsos C\ﬂb’ Slow r&()}-&

\,Q»r 5/\92 X D ol . Mﬂﬂe ca\@%__ao}(__
PCGU\‘ \"OOA& e’ bdslor
S Questwn 15 continues on the next page

Commentary

A correct response, citing that there is no information about roads at all on the graph.
1 mark
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Question 15(d)

700+
600

500 /—/
Billion 400 /

passenger
km per
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200 /
100 P -
o - /0 |
1952 2016
Key Years
Cars, vans and taxis
—-———Raill
15 (d) Using the graph on page 23, make two statements about rail travel over the years.
[2 marks]
Student A
15 (d}  Using the graph on page 23, make two statements about rall trave! over the_ye?rs‘ b
2 marks]

Commentary

A well-structured and clear response giving two correct statements about the rail travel. Often we
would give answer lines split into statement 1 and statement 2 but if we don't, this is a good way of
answering the question.

2 marks
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Student B

15 (d)  Using the graph on page 23, maka two statements about rail trave! over the years.
{2 marks]

Commentary

Two different but correct statements about how rail travel has changed across the years shown by
the graph.

2 marks

Student C

15 (d)  Using the graph on page 23; make two statements about rail travel over the yela:azrs -
marks

6 Ql : : t_{'y"@u{u .[/\JLJ aptounl 8 ek 0

i € SIS - QY3 dpclims. e caw
brornr’  peteesit

Commentary

A little too vague (and similar) to score both marks but either statement can be judged to be worth
one mark.

1 mark
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Question 15(e)(i)

15 (e) Charlie decides to look into rail travel in more depth.
She asks 12 of her friends how many times they have been on a train in the last year.

The results, in ascending order, are

0 0 0 0 0 1 1 2 4 6 7 387

Charlie says,

“The average number of times my friends have been on a train in the last year is 34"

15 (e) (i) Which measure of average did Charlie work out?

Show waorking to support your answer.

[2 marks]
Answer
Student A |
15 (e} (I) Which measure of average did Chadie work out?
Show working to support your answer.
[2 marks]

MEAN_getrdotte O+ OTOHOEQ T HIFR Tl 16 +74307

/2.
= 3T
Answer _/NEA)

-

Commentary
Correct choice of ‘mean’ and justification by showing the calculation which will have been used.
2 marks
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Student B
15 (e) (1) Which mesasure of average did Charlle workout?

Show working to support your answer.

s, 4 % [2 marks]

Answer 3 [“'
Commentary

Correct calculation (benefit of doubt on 406 / 408) but the student has not named the type of
average at all.
1 mark

Question 15(e)(ii)

15 (e) (ii) Comment on the use of this measure of average in this context.
[1 mark]

Student A
15 (e) (i) Comment on the use of this measure of average in this context.

Commentary

A good response, we can interpret their words ‘handle extreme values’ to imply they understand
the issue.

1 mark
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Student B

18 (e) (ll) Comment on the use of this measure of average in this context.
[* mark]

cecoLse Lk LgnoreS Suklsoirs ulhers

QS tha MeonN conceol/s
Commentary
Excellent response which goes further than we asked for.
1 mark
Student C

15 (e} (i) Comment on the use of this measure of average in this context.
[1 mark]

e //I/fjl“b Mt bt  AClyywe s

Commentary

Unfortunately the accuracy is not the issue, it is the appropriateness so this cannot be awarded the
mark.

0 marks

Question 15(e)(iii)

15 (e) (iii) Discuss the suitability of two other measures of average Charlie could use.

Suggest which would be the best measure of average to use.
[3 marks]
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Student A
15 (e} (ili) Discuss the suitability of two other measures of average Charlie could use.

Suggest which would be the best measure of average to use.
[3 marks]

Mecion — 08 (Ftaudel docant
incliude et +ha resudts(nt\\
Mede, = 4+hao munialo, voliAo .

(p
3
b
"
:
s

Commentary
There is clearly confusion here as to the definitions of the different types of average, however the
act of successfully naming two of them is still worth one mark.

1 mark

Student B
15 (e) {lii} Discuss the suitability of two other measures cf average Charlie could use.

Suggest which would be the best measure of average to use,

ST gL, Mol = &L\L_&BLMS_@_

ce  WMe wosy avacnon (AQ) is @ypealed X
hnes -

Commentary

A good response citing the two types of average and giving a reason for using the mode. However,
for full marks, it is considered that the median should be the chosen measure in this context and
with these data.

2 marks
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Student C
15 (e) (iil) Discuss the suitabllity of twa other measures of average Charlie could use.

: ; pEDA,
Suggest which would be the best measure of average o use. Rongye
Mlume [3 marks]
oM,

PEOOLE USeOL 0 £YOUN Themmplw!! o the
Cor Daoviie to use as W ynwaore Coour-ore |

Commentary

Insufficient detail / insight to score anything beyond the mark for naming the two measures of
average.

1 mark

Question 15(f)

15 (f) Name one piece of primary data used in Charlie’s investigation.

[1 mark]
Student A
15 {f) Name one piece of primary data used in Charlie’s investigation.

[1 mark]

72<. :,5; 4 Wuhi{_

Commentary
Correct response
1 mark
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Student B

15 (f) Name one piece of primary data, used in Chariie’s investigation.

[1 mark]
7
Commentary
This is not clear enough about the actual data which is being referred to.
0 marks
Question 15(q)
15 (g) Name one piece of secondary data used in Charlie’s investigation.
[1 mark]
Student A
15 (g)  Name one piece of secondary data usad in Charlle's investigation.
‘ [1 mark}

‘”\a ASSE CS"l +ha 3_:;3_@&]__

Commentary

The only graph in the question is the secondary data regarding vehicles and trains, so is accepted
as an answer here.

1 mark

Student B

15 (g)  Name one piece of secondary data used in Charlie’s investigation. ——
ma

e rmeusS:
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Commentary
Judged as too vague a reference to this particular context.
0 marks

Question 15(h)

15 (h) Give one way that Charlie could have improved the data collection at any point in her
investigation.

[1 mark]
Student A
15 (h)  Give one way that Charlie could have improved the data collection at any point in her
investigation.
[t mark]

Commentary
This response is not about the data collection, but instead is about how the data was processed
once collected.

0 marks
Student B
15 (h)  Give one way that Chariie could have improved the data collection at any point ih her
Investigation.
[1 mark]
do & (onclow
T aq.
Commentary
A suitable response.
1 mark
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Student C

15 (h)  Give one way that Charlle could have improved the data collection at any point in her

Investigation.
[t mark]

_f.‘éQQ.—C.QU.LQi'_E ineu e o_cader
g of ool

Commentary
Judged as an acceptable reference to obtaining a greater amount of data.
1 mark
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